Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300001 Date: 18/05/2016
Subject Name: Basic Mathematics
Time: 02.30 PM TO 04:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U8l a ([Ascdl.
logs (1/9) =
1. |A |0 B. | -2
C. 2 D. | 1/3
logs (1/9) =
. |A. |0 B. | -2
C. 2 D. | 1/3
logs 16
2. |A |2 B. | 3/4
C. 1 D. | 4/3
logs 16
. |A. |2 B. | 3/4
C. 1 D. | 4/3
If logs 125= x , then x =
3. |A |3 B. | -2
C. 2 D. |1
% logs 125= x &lal l x =
3. [A. [3 B. [-2
C. 2 D. |1
logy x? . logx y° =
4. |A. |2 B. |5
C. |3 D. |6
logy x? . logx y° =
¥. |A. |2 B. |5
C. |3 D. |6
logl.log2.log3=
5 | A |logb B. | log6
C. |0 D. | log3
logl.log2.log3=
W. | A |logs B. | log6
C. |0 D. | log3
log7 7=
6. |A. |logl B. |72
C. 1 D. |7
log7 7 =
s. |A. |logl B. | 7°
C. 1 D. |7
7. 4 IOg4 5 —
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A |4 log4
C. |5 log5
4 Iog45 —

9. A |4 logd

C. |5 logb
1 + 1 -
log, 6 log; &

8 A To 5/3

C. 1 15
1 + 1 -
log, 6 log; &

¢ TA o 5/3
C. 1 15
logha.logch.logac=

9. |A. |0 1
C. |logabc None of these
logra.logcb.logac=

¢ LA |0 1
C. |log abc e ual o8l
log(3;) - log(2) +log(D)=__

10. A To log 2
C. |1 log 7
log(;) - log(D) + log()=__

0. A Jo log 2
C. |1 log 7

7 4‘:
2 3

LA T29 13

C. |2 -2
7 4‘:
2 30—

WA T29 13

C. |2 -2
1 2
The order of the matrix% 2} IS :

12. 4 4
A |2X2 2X3
C. |3X2 3X3

1 2
Aels [3, z} ol sU .

. 4 4
A |2X2 2X3
C. |3X2 3X3

x—3 2 5 2
I [ 4 u] - [4 n] then x=____

13- "A Ts 5

C. |2 0
x—3 2 5 2
oa[ 4 u]_[ D]aacﬂx__

3. A 18 5
C. |2 0

14. | A= [_22 _22] and B = E ;] then A+B=___
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A 1 1] B. [[3 3]
-4 -5 —4 1
C. |1 1] D. | [3 3]
o 1 0 1
e 2w eell Jaua ae_

. [ :_14 _15] > :—34 ﬂ

C. |2 1] D. |[3 3]
0 1 o 1
|fA:[123],B:[§JthenAB:_

15. 5
A. [[4 6 15] B. |[189]
C. |[25] ; D. | [52]
°81A:[123],B:[3J dla Al AB= AL,

5

el [4615] B. [[189]
C. |[25] D. | [52]
IfA:_; _i]then,adj.Az

16. | & ;:: 7 5105 4
7] > 4]
3 A:E _24]<ﬂ,adj.A=_

1. | A [:: _12 > [_31 i
SIS >
fA=[; ]then A2=

4 9 16 9

A “ 15 43
“ s 13 >l 7]
A A-[ Jan-

4 9 16 9

Q0. | A [B 1] > [12 13]
“ s 1 > 1[a 1)
ifA=" 9] then, adj. (adj. A) =

> )

18 A T-A B. [0
C. A D. [

A A= A adj. (adj. A)=

W. A T-A B. |0
Ct-ﬂﬂEiASECEI _ D I
sece tana‘_

19 A T2 B. [1
Ct.ﬂ.ﬂEll-lSECEll _ D O

. \—

sece tane
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A |2 B. |1
C. |-1 D. |0
If A is a square matrix then, A - AT is matrix
20. | A. | Diagonal B. | Symmetric
C. | Row D. | Skew -symmetric
Bl A ARY AMs sla A ,A-AT As L,
0. | A | Qs B. | dRd
Matrix A = E ﬁ] is matrix
21. A. | Square B. | Column
C. | Row D. | Identity
W@s A=[; JJA_3Wsd.
U | A | A B. | adat
C. |sa D. | Asn
If order of matrices A and B are p x g and g X r respectively then AB is of order
22. A. | pxq B. [gxr
C. |gxq D. | pxr
2. | %l Qs A Wl B oll $H AojsN pxq Wl gxr 82 Al AB oll 5H aAd
A. | pxq B. [gxr
C. |gxq D. | pxr
(AB)* =
23. |A. |AlB? B. |AlB
C. |BIAT D. | B*A
(AB)"'=
3. |A. |A'B! B. |A'B
C. |BIAT D. | B*A
2 3 4 -1 1 _
ta=[; .].B=[] Jthenia+p)=
A. [[05 15 B. [[3 1
20 | A [ ) 5 4
C 3 2 D. |[[15 1
[3 n] [ 3 n]
12 3 I -1 1 B
°aA_[4 n]’B‘[z z]ru:(AJ’B)‘
A. [[05 15 B. [[3 1
2. [ 2 0 ] [3 1]
C 32 D. |[[15 1
[3 n] [ 3 n]
11 5=
ifA=[; ] thena
A. 1 1 B. 2 2
25. 11 1 o 2
C 1 2 D. 1 0
o 1 0 1
1 1 9=
WA= [IZI 1] AA
A. 1 1 B. 2 2
M. 1 1 0 2
C 1 2 D. 1 0
o 1 0 1
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11 2 -
|fA-[_1 3],thenA -
A. 3 -2 1 -2
5 -
26. [1 1 ] 5 E 1 ]
C. |11 -1 1r3 2
5 [ 2 3 ] 5 [—1 1]
|1 2 1=
B A= [_ . 3],& A
A. 3 -2 1 -2
5 e
6. [1 1 ] 5 E 1 ]
C. |11 -1 1r3 2
5 [ 2 3 ] 5 [—1 1]
If matrix A is non singular matrix then
27 [A. | AT=A Al =0
C. |A’=-A |4l =0
% ARls A UM AWLs sl Al
RY. |A. | AT=A 4] =0
C. |A'=-A 4] =0
a b|_ 3a 3b| _
28 ‘c dl 5, then ‘36‘ 3dl
A 15 45
C. 30 125
a bl _ 3a 3b| _
‘c dl 5, <l 3¢ 3dl
. A 15 45
C. 30 125
120°= radian
A [0 211
29. 6
C. |20 I1
3
120°= A3t
A | I 211
Re. c
C. |2l I
3
1+ cot?e =
30. |A. |sin?e sec?eo
C. | cos?e cosec?e
1 + cot?e =
30. | A. |sin?e sec?eo
C. | cos®e cosec?e
tan30° =
A |1 s
31. 2 V3
C. 1 V3
tan30°=
A |1 T
3q. 2 V3
C. 1 V3
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cos(180° +e) =

32. | A. |sine B. | -cose
C. | -sine D. | cose
cos(180° + o) =

3. | A. |sine B. | -cose
C. | -sine D. | cose
sin(-e)=

33. |A. |-cose B. |-sine
C. |sine D. | cose
sin(-e)=

33. | A. | -cose B. |-sine
C. |sine D. | cose
sec240°=

34. | A -2 B. | 1/2
C. |-1/2 D. |2
sec 240° =

3%. |A. | -2 B. | 1/2
C. |-1/2 D. |2
Period of sin 9x is

35. | A [I1/9 B. | 211
C. | 2119 D. | None of these
sin 9x oll Aladsln AL,

3W.TA [119 B. [2m
C. | 2119 D. | None of these
Sin 237 (1/2) °- sin® 7 (1/2)°=

36. | A |12 B. | 1W2
cC. |1 D. | 1/2v/2
Sin 237 (1/2) °- sin® 7 (1/2)°=

3¢ |A |12 B. | 1n2
C. |1 D. | 1/2v2
If tane = 3/4 , then the value of tan2e=

37. | A 2417 B. | 12/7
C. |12/25 D. | 23/25
%\ tane = 3/4 &lal Al tan2e o{l (1t AL

39. A [247 B. [12/7
C. |12/25 D. | 23/25
Sin? (40°) +sin? (50°)=_

38. |A. -1 B. |0
C. |1 D. | 1/2
Sin? (40°) +sin? (50%)=_

3¢. |A. | -1 B. |0
C. 1 D. | 1/2
If tan A= 3 and tan B=4 ,then tan (A-B)=

39. | A -1/13 B. | 1/7
C. -1 D. |1
ol tan A= 3 3ol tan B=4 &lad cl tan (A-B)=__ &l

3¢. A [-1/13 B. [1/7
C. |-1 D. |1
cos(-x) = , Xe[-1,1]

40. | A. | costx B. |sin?tx
C. |-costx D. | II- cosx

xa | cos(-x) = , Xe[-1,1]
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A. | costx B. |sintx
C. |-costx D. | II- cos'x
cosectx +sectx=_ | |x|21
41 A |0 B. | I1/4
C. |1I2 D. | II
cosectx +sectx=_ | |x|21
LA To B. | I1/4
C. |1I2 D. | II
sin(1/2)=
42. | A. | 1I1/6 B. | II/3
C. |1I2 D. | II
sin(1/2)=
¥ | A | I1/6 B. | II/3
C. |1I2 D. | II
tan (1/2) + tan " (1/3)=
43. | A. | 112 B. | I1/4
C. |II D. | None of these.
tan (1/2) + tan " (1/3)=
¥3. A [1I2 B. | I1/4
C. | D. | 8lg ugL otél
tan(o0) +sin(v/3/2) + cos(1/2) =
44. | A. | 11/3 B. | 711/6
C. |II/7 D. | II/6
tan(o0) +sin(v/3/2) + cos(1/2) =
. | A, | I1/3 B. | 711/6
C. 11/7 D. |II/6
sin(A+B)=
45. | A. | sinAcosB+cosAsinB B. | sinAsinB+cosAcosB
C. | sinAsinB-cosAcosB D. | sinAcosB-cosAsinB
sin(A+B)=
¥W. | A. | sinAcosB+cosAsinB B. | sinAsinB+cosAcosB
C. | sinAsinB-cosAcosB D. | sinAcosB-cosAsinB
c0s20=
46. | A. | 2(cosb-sin0) B. | cos?0-sin’0
C. | 2sinfcos D. | cos®0+sin%0
cos20=
¥S. | A. | 2(cosB-sinf) B. | cos?0-sin?0
C. | 2sinfcos D. | cos’0+sin%0
IS a vector quantity.
47. | A. | Displacement B. | Distance
C Mass D. | Energy
A e AQ D.
¥o. | A | llelldR e
C lea D | Qud
The magnitude of P(3,4,5) is
48. | A 50 B. |5
C. |5vV2 D. | 25
¥¢. | P(3,4,5) o] Hlol L.
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A. |50 B. |v5
C. |5V2 D. |25
The vector represents a unit in the direction of x-axis.
49. | A. 1(0,1,0) B. [(1,1,1)
C. |(0,01) D. [ (1,0,0)
ulza X-wetoll (Raumt Asu ulea g2l 8.
8¢. A 1(0,1,0) B. [(1,1,1)
C. |(0,01) D. [ (1,0,0)
If a=(1,2,1), d=(1,0,2), then |a-B| =
50. |A. |3 B. |5
C. \,"r_'i D \-"r3
ol @ =(1,2,1),6=(1,0,2) A |a-b| = UL,
uo. |A. |3 B. |5
C. \."FE D. ‘u"r3-
If a=3i +2j -k , then the direction cosine of @ corresponding to x-axis is
51. |A. |3 B. | 214
C. |-1n14 D. | 3h/14
% a=3i +2j -k ll @ of X-w&l el (855Ul Al
ua. [A. |3 B. | 2W/14
C. |-1n14 D. | 3h/14
The angle between the vectors a=(1,3,-2) and b = (4,-2,-1) is
52. |A. |0 B. |I1/2
C. |II D. | None of these
AURM a=(1,3,2) A\ b= (4,-2,-1) AR oll YRl Al
. |A. |0 B. | 112
C. |I D. | §le ugt «18l
If ¥=(2,1) and ¥ = (1,3) ,then unit vector in the direction of 3x - 2¥ is given by
1 1
- A 21 B. | (13
1
C. ~(4,-3) D. | None of these
B £=(2,1) MR 7=(1,3) A 3z -27 ol (ol AsH Alzal .
A |1 .
- (2.0) B. | (13
u3.
C. |:(4-3 D1 818 ugl «1él
i.(j x k)=
54. |A. | -1 B. [0
C. |1 D. | None of these
i.(j x k)=
wy A [-1 B. [0
C. |1 D. | 818 ual o8l
If @ =(2,-3,-1) and b =(1,4, -3) ,then their cross product =
55. [A. [-7 B. [ (13,5,11)
C. |-(135,11) D. | (3,1,-4)
WU, | %l @=(2,-3,-1) Al b =(1,4, -3) ll dAxoll UlE2 dRUsIR UL,
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A | -7 B. | (13,5,11)
C. |-(13,511) D. | 31-4)
If x=(1,2,3) and ¥=(2,3,4) then their dot product is
56. |A. [20 B. | (6,4,9)
C. |(2,6,12) D. | 14
%l £=(1,2,3) Ual 7=(2,3,4) ll AHoll W2l AYBUSIR L.
Us. [A. 120 B. | (6,4,9)
C. |(2,6,12) D. | 14
iS a unit vector.
57. é (j]_-1j:!-,j:_l-) [B) (-jfl-’-j:-l-a-i')
-1 G39) | GHER
Asu Ulta B.
wo. | A [ (1,1,1) B. [(-1-1-1)
C 111 D. (ALt
- (3’3'3) ' [3'v3'3
If @ =(3,-1,3) is a given vector, then the vector of magnitude 6 in the direction a is
58. |A. |6a B. | 6a
C. |al6 D. | 6lal
WA AR @=(3,-1,3) v aoll Bau Ml 6 Mot LA U2 LA,
UWC. |A |64 B. | 6a
C. |al6 D. | 6lal
If the force F is acting on the point P then the moment of the force F about a point A is
given by
59. A. I.FJ F B. EXF
C. |Fxap D. | None of these
Ao F (olg P awwn sl 52 Al Foll (Glg A dutwtell asHIL
e 4l
"|A. |Ap. F B. | APxF
C. |Fxap D. | 8y ual «8l
A particle moves from a point A (3,2,-1) to the point B(2,-1,4) under the effect of force
60. | F=4i-3j+2k. The work done by the force is units.
A |12 B. |10
C. |15 D. |17
W F=4i-3j+2k ofl UAR d60 501 (0lg A (3,2,-1) &l (6lg B(2,-1,4) Yl elatict?
<o |52 © dl UAd s = ASH,
A |12 B. |10
C. |15 D. | 17
The circumference of a circle whose radius is 7 cm. is
61. 'A. [ 154cm B. | 44cm
C. | l4dcm D. | 48cm
7em. Bl wRladl adnsl uRy LA,
S [A. [ 154cm B. [ 44cm
C. | l4dcm D. | 48cm
A cube is having surface area 96 cm?. then its edge length is cm.
62. |A. |16 B. | 38
C. |4 D. |32
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gl s AHUsto{l AWdle] Axsn 96cm? &l dl,Aell wiyell doue cm. Ul

SIA |16 B. |38

C. |4 D. |32

The volume of a cylinder having radius 7cm and height 12cm is cm?®
63. | A. | 1848 B. | 264

C. |3168 D. | 1294

7em (AU Wl 12cm GLRAY HRlAAL WS A0SR of Ustsn cm® AL,
s3.[A. [1848 B. [ 264

C. |3168 D. | 1294

The volume of a hemisphere of radius 3 cm is cm?,
64. | A. 1211 B. | 2411

C. 1811 D. | 36I1

3cm (Al YRlcldl AHINASe] Lot cm® 8.
S¥. A 120 B. [24M

C. 1811 D. | 3611

In an equilateral triangle the length of a side is 4 cm, then its area = cm ?
65. | A | 4/3 B. [16

C. |64 D. | 36

As AUy (A5 ofl oty of 1w 4 AL A Al Agy Aasn = A2
SW. A 43 B. [16

C. |64 D. | 36

The volume of a cuboid having length 5m, breadth 3 m and height 2 m is cm?,
66. | A. |30 B. |60

C. |150 D. |90

As cotlot ofl clotte 5 HleR , uslous 3 {2 ua Qe 2 Hler 8. dl dej Ustsn=
g | dotdller aa

A. |30 B. |60

C. |150 D. |90

If the diameter and the slant height of a cone is 12 cm. and 14cm. The curved surface
57 |area of the cone is cm?.

A | 264 B. | 528

C. |176 D. | 1584

As g oll Wl oll caly 12cm ua 2l GQLAE 14cm. 8. 2§ ol csAuldl of AaAsn
9, | —— cm?. UL_L.

A. | 264 B. | 528

C. 176 D. | 1584

The total surface area of a cylinder is given by-
68. | A. |2[(r+h) B. | 2Ir?

C. | 2IIrh D. | 2IIr (r + h)

ANUSIR ol ds AUl of sA AAsA L,
SC. |A. |2(r+h) B. | 210r?

C. | 2IIrh D. | 2IIr (r + h)

In APQR, the length of the sides is Scm, 8cm and 11cm.Its area is cm?.
69 | A | 4/21 B. |8V7

C. [12v3 D. | 10v7

APQR ol oll2r2A of MU 5cm, 8cm ,11cm. & cl Agf Assn cm? AUl
se. | A 421 B. |8V7

C. [12v3 D. | 10v7
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A tank of length 3m, breadth 2m and height 0.5m can store litre water.
70. |A. |3 B. |30

C. |300 D. | 3000

3. o, 2Hl udloue wal 0.5Hl Qs upnadl As a8l Hi (@22 uell A
70 |[A |3 B. |30

C. |300 D. | 3000

*hkkhkkhkkkikkikkkikiikik

11/11




